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	Q1. 
	In high-speed machining, the rotating spindle must be

	Option A:
	Static

	Option B:
	Rigidly attached

	Option C:
	Dynamically balanced

	Option D: 
	Statically balances

	
	

	Q2.
	Maximum cutting force to cut material is given by

	Option A:
	Sheared area * shearing strength

	Option B:
	Length * Shearing strength

	Option C:
	Diameter * Shearing strength

	Option D:
	Shear force * Shearing strength

	
	

	Q3.
	Direct pilots are,

	Option A:
	Independent of blanking punch

	Option B:
	Directly retained in the punch holder

	Option C:
	 Directly retained in die

	Option D:
	 Fixed to the bottom of the blanking punch.

	
	

	Q4.
	Method of reducing cutting force is,

	Option A:
	Reduce tonnage

	Option B:
	Provide clearance

	Option C:
	Provide shear

	Option D:
	Provide pilot

	
	

	Q5.
	A hole of 65 mm diameter is to be produced in a steel plate of 3 mm thick. The ultimate shearing strength of plate material is 450 mpa. Determine punching force

	Option A:
	275.6 kn

	Option B:
	 325.5 kn

	Option C:
	 600 kn

	Option D: 
	 170.6 kn

	
	

	Q6.
	The clamping force should be act in the direction of,

	Option A:
	Workpiece force

	Option B:
	 Cutting force

	Option C:
	Bending force

	Option D: 
	Drawing force

	
	

	Q7. 
	A circular object can be accurately located by

	Option A:
	V locator

	Option B:
	Support pins

	Option C:
	Diamond locator

	Option D: 
	Conical pin locator

	
	

	Q8. 
	Which of the following is not a clamping device.

	Option A:
	Lever clamps

	Option B:
	Screw clamps

	Option C:
	Hinged clamps

	Option D: 
	Locked clamps

	
	

	Q9.
	Which fixture is used to hold complicated parts on a lathe?

	Option A:
	Drilling fixture

	Option B:
	Turning fixture

	Option C:
	Milling fixture

	Option D: 
	Grinding fixture

	
	

	Q10. 
	The abrasive slurry is used in

	Option A:
	Ultrasonic machining

	Option B:
	Wire cut machining

	Option C:
	Plasma arc machining

	Option D: 
	Laser machining

	
	

	Q11. 
	The abrasive particles are mixed with water in,

	Option A:
	Water jet machining

	Option B:
	Abrasive jet machining

	Option C:
	Electron beam machining

	Option D: 
	Chemical machining

	
	

	Q12. 
	In Ultrasonic machining, the function of the transducer is to

	Option A:
	Convert mechanical energy into heat

	Option B:
	Convert electrical energy into heat

	Option C:
	Convert electrical energy into mechanical vibrations

	Option D:
	Convert mechanical energy into electrical energy

	
	

	Q13.
	The length of the runner is kept minimum in injection moulding to

	Option A:
	Increase pressure losses

	Option B:
	To balance system

	Option C:
	To reduce pressure losses

	Option D: 
	To maintain the temperature

	
	

	Q14. 
	The process of the controlled removal of metal by the anodic dissolution of the workpiece in an electrolytic cell where the workpiece act as an anode and the tool act as a cathode is called

	Option A:
	Chemical machining

	Option B:
	 Electron beam machining

	Option C:
	 Electrochemical machining

	Option D: 
	 Plasma arc machining

	
	

	Q15.
	Which of the following processes of moulding is widely used for the manufacturing of bottle caps and automotive dashboards?

	Option A:
	Compression moulding

	Option B:
	Transfer moulding

	Option C:
	Injection moulding

	Option D: 
	Jet moulding

	
	

	Q16. 
	The goal of agile manufacturing is

	Option A:
	[bookmark: _GoBack]Provide instant delivery of a small quantity

	Option B:
	Increase cost

	Option C:
	Compromise quality

	Option D: 
	Provide delivery of a huge quantity

	
	

	Q17.
	The minimum pressure for injection moulding is ___.

	Option A:
	100mpa

	Option B:
	150mpa

	Option C:
	200Mpa

	Option D:
	250mpa

	
	

	Q18.
	A part of mould in injection moulding which ensures alignment of the nozzle and sprue is called

	Option A:
	Ejector pin 

	Option B:
	Register ring

	Option C:
	Runner

	Option D: 
	Gate

	
	

	Q19. 
	Which of the following is not a component of a flexible manufacturing system (FMS)

	Option A:
	Minimum inventory

	Option B:
	Reduction in setup time

	Option C:
	Kanban system

	Option D: 
	Increased work cycle time

	
	

	Q20.
	Which of the following is not made by injection molding?

	Option A:
	Nuts

	Option B:
	Tubes

	Option C:
	Car handle

	Option D:
	Electric tubing.

	
	

	Q21.
	Staggering of punches reduces

	Option A:
	Area

	Option B:
	Tensile force

	Option C:
	Cutting force.

	Option D: 
	Cutting angle.

	
	

	Q22. 
	Which of the following is not an element of a flexible manufacturing system (FMS)

	Option A:
	CNC machine tools  

	Option B:
	 Automatic material handeling

	Option C:
	Computer control  

	Option D: 
	Tool design

	
	

	Q23.
	V-blocks (Vee locators) are used for clamping as well as locating when faces are inclined upto____.

	Option A:
	30°

	Option B:
	12°

	Option C:
	9°

	Option D: 
	3°

	
	

	Q24. 
	Which of the following lathe is used for heavier components?

	Option A:
	Capstan lathe

	Option B:
	Capital lathe

	Option C:
	Turret lathe

	Option D: 
	Channel lathe

	
	

	Q25.
	The main purpose of using bushes in the jig is,

	Option A:
	To locate and guide a cutting tool  

	Option B:
	To locate and guide die  

	Option C:
	To hold punch and punch holder

	Option D: 
	To strip  material



1 | Page

